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Ex 4

November 15, 2022

[48]: import matplotlib as mpl
mpl.rcParams['figure.dpi'] = 300

[20]: import numpy as np
t = np.array([i/15 for i in range(1,6)])
d = np.array([0.05, 0.135, 0.265, 0.44, 0.65])

2*np.multiply(d,t**-2)

<
]

print (£"{v=}")
print (£"{np.std(v, ddof=1)=}")
print (£"{np.average(v)=}")

v=array([22.5 , 15.1875, 13.26 , 12.375 , 11.7 1)

np.std(v, ddof=1)=4.391134534491058
np.average(v)=15.002500000000001

[62]: import matplotlib.pyplot as plt
f = np.sqrt(2xd)
plt.plot(t, £, "o")

plt.gca() .set_xlim(left=0)
plt.gca() .set_ylim(bottom=0)

a, b = np.polyfit(t, £, 1)
plt.plot(np.linspace(0, np.max(t)*1.10, 100), np.linspace(0, np.max(t)*1.10,
+100) *a+b)

plt.ylabel('$f(x)$ in $\sqrt{\mathrm{m}}$')
plt.xlabel('s"')

print(f"a? = g = {ax*2}")

a’? = g = 9.607178226254193
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